School Work,

9. At 2.30 p.m. a telegram is seat
foom S: Petersburg, long. 30° E.,
to S:. John, N B,, loag. 66° W,
Allowing 73 minutes for transmission
and delays, when will it b2 reccived at
S-. John?

ro. Nane the principal agents
which madify the form of the earth’s
surface, and explain how each opar-
ates.

r1. Give a brief account of the
physical features, chiei towns, climate
and industries of any oze of the fol-
lowing :— )

(a) British Columbia, (&) Nova
Scotia, (¢) Newfoundland, {¢) Auastra-
lia, (¢) Japan.

PUBLIC SCHOOL LEAVING.

HISTORY.

Examiners : J. J. Craig, B.A.; J.
. Morgan, M.A,

1. Name an important battle in the
reign of Richard ITI. "Why was it
important? Give fully the events
that led to the battle. (x2)

2 Sketch the events that led to
the Revolution of 1688. What
benefits did the English nation receive
from the Revolution? (12)

3. State the principal causes of the
French Revolution. Show how Eng-
land becanie involved in war with
France at that time. (12)

4 State the geographical position
-of the following places, and the chief
historical event with which each is
associated :—Yorktown, Cawnpore,
Amiens, Austerlitz, Khartoum. (16)

5. Give an account of the Reform
Bill of 1867, and the Education Act
of 1870. (z2)

6 Sketch the campaign which end-
-ed in the Conquest of Canada. (12)

7. What brought about the Con-
stitutional Act of 1791? Give its
chief clauses and note any defects.
{12)

8. When a meazure is introdaced
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into the Dominion Parliament, name
the successive stages through which it
passes before it becomes a law. (12)

PUBLIC SCHOOL LEAVING.

GEOGRAPHY.
Examiners: ]. J. Tilley; J. F.
White.

1. (¢) Why is it that in some parts
of the Arctic regions there are neatly
six mnths of day and six months of
night ? .

(#) State clearly why there are four
seasons in the Temperate Zne.

(¢) What would be the effect on
the seasons if the axis of the earth
were perpendicular to the plane of its
orbit? (rg) ;

2 (a) Draw an outline of the
Canadian Pacific Transcontinental
Railway, and of its tributary branches
in Ontario.

() Show the position of the cities
situ)ated on the main line or branches,
(16

3. Name in order the waters
through which a ship would pass in
tailing from St Petersburg to Chi-
cago. (16)

4 (@) Name four of the principal
manufacturing centres of Great Britain
and Ireland, and state for what manu-
facture each is noted.

(6) Name four of the principal sea-
ports in Great Britain and Ireland,
and describe the foreign trade carried
on at each seaport. (16)

5. Name four ¢f the most import-
ant British colonies, and give the
principal export trade carried on by
each of them. (12)

6 Show how the geographical posi-
tion of Britain has aff:cted the pro-
gress of the nation and the occupa-
tions of the people. (13)

7. Waere and what are:—OQrinoco,
Havana, Cellao, Tasmania, Ulundi,
Sunda, Tigris, Nepaul, Elburz, Etna,
Elba, Idaho? (r2)



